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— ~ Find the value of the limit: (20%)
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~ ~ Find the indefinite integral:
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» f(x) = (x=3)1-x)(x* = x) > find the value of f (1) (8%)
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'“ ~ Find the sum of the infinite series: i(ziﬁ 1

n+l
= 2

~+ ~ Determine the divergence or convergence of the improper integral.
Evaluate the integral if it converges.

[ o (10%)

0

-+ ~ Solve the equation (Logistic Growth Function, hint: to find y="?):
% =ky(1-y), Assume y >0 and 1-y >0 (10%)

Find the point P(x, y, z) on the plane 2x+y-z-5=0 that lies closest to the
origin. (10%)

I* ~ Show that limsing=0 and lim cosé =1 (10%)
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